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A is 3 to the left of Bland/2" to the right of C.

A B¥ Tt ¥ Aww & mﬁaqmtu al Lt

—
A is 3" to the left of B(who is|2™ to the right of C.
ABJF Tt ¥ e %camﬂ#qmt
VR

AN el Ry
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CIRCULAR ARRANGEMENT
| e— A —>R
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LINE ARRANGEMENT
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8 friends are sitting around a circle facing centre are those A,B,C,D,E,F,G,H . A is second to

the left of(®) Who is]third to the right of C. D is third to the left of E who is third to the left of
H. G is third to left of C

aﬁ?wméiﬂlﬁaﬂtﬂtgsﬁA,B,C,D,E,F,G,H%A,mﬁ#g{l%@
M;ﬁ#ﬁmtj}g&ﬁ?eﬂwtﬁm* e A AR ¥ CF aTw

C g
A G
D,

H 3
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7 friends are sitting around a circle facing centre. A
A C is third to the left ofho is 4' to the right of
C.Dis

third to the left of A but not neighbour og: )
6‘\ who is
neighbour of B. G is second to the left of that

person_
F who is.in 21 to the left of E.
7 T v w6 & 9rt AR S §, S
e &% B .
D S TIABR aw & e ¥ Sic & 2w
| dtar g1 D,
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C 7. 7 friends are sitting around a circle facing

centre. A
A is third to the right ol@who is 3" to the right

/>'> of C.D
is neighbour of C and not neighbour of E. G is
second to the right of B.

7mwm$mmau IEGE
€ HE g B |
e &l AR ET A DT A H
gIe { I ol
‘: E D, C &T GBI & 3R £ & g3 F¢r &
GBH T H

B GE ¥
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5 friends are sitting in a
line. A,B,C,D,E. Ais 3" to
g fs é 6 the left of B. Cis 2" to the
‘ l l { ’ right of D. E is not
B < s fimwe war o
5
Pf E D H IS ® A B,CD,E]
A,BFIT & A{T &1 C
L D T ¥ U &l E,C

T TS el
ol
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¢
5 [~ 6 friends are sitting in a line.
P e A,B,C,D,E,F. Ais 3 to
/ C ,B D A the right of B who is not at ending
l ‘ \ l ' ’ point. Cis 2" to
left of D and not ending point. E is
/'6 l% 6 E / t -CB not neighbour of
B. F is neighbour A
% 6 T s tiﬁi;i 43 T, A
B,C,D,E,FIA,B®F & 41&
c B F A de st sife we
l L] | | W a6l &1 ¢,D& ¢ A
GE ® 3R Jfa# a¢r BIE, B
M P GBI G &1 F AT

ST &
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( 8 friends are sitting around a circle facing

centre
ry are those A,B,C,D,E,F,G,H. Ais 39 to the
P\ right oi@
who is 2™ to the right of C. D is third to
the right of
hois _llgjg!\bour of A. G is third to

left of F. QA ni€ioh boun of [}
» i T e DA N

ST H{E &g &
mgg%,a’r A,B,C,D,EFGHEAR)

¥ a1 ¥
H At & 3 o 2 ¥ T o
Q Y ¥ 20 A e & T o (g
St AST ERE RIGF& a8 ¥ JE B

— TR 9w Gy ¢ )
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g 8 friends are sitting around a circle facing centre are
those A,B,C,D,E,F,.G,H
H A A is 3" to the right of @) who is 2" to the left of C. D
is 3 to the right of E.
H is neighbour of@who is second to the left of B.

G\ C is not neighbour of B. H is neighbour E.
UFH Hhel & 9RT AN IS §, e

,D : B,C,D,E,F,GH & A@F T A
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C 8 friends are sitting around a circle facing centre are

those A,B,C,D,E,F,G,H. A is 2" to the right o
who is 4" to the left of C. D is 3™ to the right of C.
H is neighbour o@lho is not neighbour C. E is
not neighbour of C.

8 By ua whe & aART AR IS §, S
A HE g B |
a% &, 3 A,B,C,D,EFGHEAR)F aT A

gmmamm D,C & gU A
e &1 HG)
&I TSI & S C T USRAT 9 &1 E, C @
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8 friends A,B,C,D,E,F,G,H are seating in 2 rows
E H .:D C opposite to each other. A is 3™ to left B who is

opposite to C. D is 2" to left of E. F is neighbor
I , ] ] of
G who is not neighbor of A.
8fAFABCDEFRGH TF gEY & Rgda

| | 1 | AASEABF AT A NTT L JAC H

Rt
A F G B ndfwwt & w00 $e o AR E 3 A
RE I Y
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> 8 friends are sitting around a circle
facing centre are those A,B,C,D,E,F,G,H
Q H A is second to the left of B who is
immediate right of C. D is third to the
left of@nho is opposite H. G is third to
G| left of F.
A 37 UF whe & At 3R A5 &
ST A,B,C,D,E,F,G,HS
E %m a qa’t FIH W, S C
g & D (OF Tt W
TAA WEAN HP RAUAT &, G, Fdh
e A AT & ~
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Eight friends A,B,C,D,E,F, Gand H are
Seating in a circle facing the centre. B is
Seating between G and D. H is third to
the left of B and second to the right of A.
Cis Seating between Aand G.Band E

are not Seating opposite to each other.
8 {7 A,B,C,D,E,FGIHT HTH

aﬁmﬁﬁﬁzﬁrm h qS
%l B,GAHRD® ¥ H,B &F
mmm €5 GHT BICA
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c Six persons A,B,C,D,E&F are

standing in a circle. B is
P\ F between D & C. A is between E
& C. Fis at the right of D. Who

is between A& F —-'»AM—s@
6 =g A, B, C, D, E 3R FU&h

Hfhe # @S & IB,DIAR C &
C . da # ¥l AE IR cF i
[ :ﬁ%lroiﬁaw%'a’rAﬁ\T

F
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E A,B,C,D, E F&Garesittingina
@ circular region & playing cards. F is
2"d to the right of G. B is neighbour of
C_ F but not of C. E is a neighbour of C &
is siting 4" at the right of G. D is
between E & A.
P‘ A,B,C,D,E,F 3R GU&H Mt 8T A
F BEIRNavrAaa @ EIFGHF
e gERT &1 B, D& USRI § Afdhed
CHl ANNECH TBIAT & IR G &
G 8 aTé <Y T W T FIDE IR A
& T 7 B
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\,J Eight friends-P,Q,R,S, T, U,V& W are
(L sitting around a circle facing the center.

\/ V is third to the right of Q & second to
the left of R. Qis second to the leftof T

& immediate right of S. U is between Q

& T. P is not at the left of R.
P 87 P,Q,R,S,T,U, VIR ETF Afha

& ART W Hg Hr AN JF& &S IS
%lv,aniarﬁgw%amaﬁwg'
|Q, TS dIT S
S ®\ U gqga“ardﬁu,qaﬁzr dra 7 8P
,R & 91T T8 &l
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P, Q, R, S, T, U and V are sitting around the circle facing the
centre. P is between V and S. R who is second to the right of S, is
between Q and U. Q is not the neighbor of T, then which of the

following statements is not true?

P,Q,R, S, T, U 3T V &= & 3T Uz &k g9 = 14 43 §1 P, V 37
SHFATUAZIRTSH AW IANE, Q 3iT U & & U 81 Q, T &l USIHT
21 &, @ Frefafaa o ®@-ur w99 g 769 §2
UPSI, 05/12/2021 (Shift-2)
>O (a) Q is immediate left of R / Q, R & d%d @U 2|
)O(b) T is third to the right of Q / T, Q & a0 & £
YO (c) R is immediate left of U / R, U & @¥d a0 2|
\/mUis second to the left of T / U, T & aTT & 2|
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All in a row are facing north. G is fourth to the right of U
on the extreme left. There are S persons to the right of G. What
is the total number of persons in the row?

U ufgd o gt 3WT @ AT qfauE ®) G, U a1E 3T O WE g,
(] wa aé siw #1 G & @ i 5 wafa # ufaw § safaEE # e dEn
fepraet 72

UPSI, 23/11/2021 (Shift-1)

e 10 (b) 5 (c) 8 (d) 12
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Six friends, Lata, Mala, Neelu, Olly, Parmeet and Qadira are sitting

? O in a circle facing the centre. Each person is seated exactly
‘V\opposite one friend. Qadira is sitting neither next to nor exactly

opposite to Mala or Parmeet. Parmeet is sitting exactly opposite

to Lata. Neelu is sitting to Parmeet's immediate right. Mala is

sitting opposite to Neelu. Olly is sitting to Parmeet's immediate

left. Who is sitting opposite to Olly?

B W H a3 F) e =t s fag & 3w a3 £ e 1 ar e oW
QIhTE & 31k AN o 9431 § 3T A € ek 3t faudi|a @ §1 widE e &
3t fagd| a3t £ ey undi| & 3tk a18 3T 43T £ uren Ao & fauia a3t
£ 30T, T & 3tk ag 3T 93T ) et & faufe @ a8 £7
A& UPSIL 01/12/2021 (Shift-2)
(a) Parmeet (b) Lata
(c) Qadira / (d) Either Mala or Neelu
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Study the givne information carefully and answer the question

Ot TP p IA\ that follows

In a family party, Amelia, Oliva, Isha, Emily, Poppy and Jessica

O E_ P 3 I R are sitting in a row, all facing north, Both Poppy and Jessica
A have two persons sitting on one of their sides and three persons
on the other side. Both Amelia and Olivia are sitting on one of
the extreme ends each. Isha is sitting to the immediate left of

Amelia. Who is sitting to the immediate right of Olivia?

&1 g AT T LAFYES AT & 3 A9 fau o uvw @ 3= |
ek wftarfas urét , srivferar, sitferar, dom, uftet, gt i St T afE
o 33T &, Wt 3N T T Iq@ T, It 3w Afeen 2 & Uk W ar st
#3 & 3iw guh T A st &3 §) st i sitferar A UE-UE B
T 43 %) 3o, amferar & 3 ard 431 7)1 aiferar & 3 2 @ aar 87

NTPC CBT-2, 16/06/2022 (Shift-3)
(a) Poppy (b) Jessica ‘ﬁxﬂy (d) Amelia
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Five friends A, B, C, D and E are sitting in a circle facing towards
‘b —D centre. Their order of sitting must fulfill the following conditions:

uter fux A, B, C, D 37 E U g9 W &g & 37 U@ &7 43 §1 I
a3 & wu Freafafaa yat &1 gu & afze
1. A and C are immmediate neighbours of each other.
A 37T C Ux guT & fawpzaw wgrdr €
2. Cis the 2nd person to the right of D.
C, D & =4 U =Afaa F
C E3. A is not an immediate neighbour of D.
A, D &1 fAszan uzra 2T £
A 4. B sits 2nd to the left of A.
B, A% a4 ¥ FHT T4TH W 3T ¥
What will be the position of E with respect to C?
C# W=9 U E & T4 T EI7?
NTPC CBT-2, 17/06/2022 (Shift-1)
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(a) E is second to the left of C
E,Ca a3 31T U &

(b) E is to immediate right of C
E, C & dchicl STeT 307 &

(c) E is third to the right of C

E,Ca /4 ¥ &1\T 9 U7 &
\da—)/’E is second to the right of C

E,C% I1& ¥ 0T ¥H W
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'Q\ Eight friends Mansi, Shweta, Monika, Kajal, Payal, Aarti, Laxmi
'\Y\“ and Rani are sitting around a circular table facing towards the
centre (not necessarily in the same order). Mansi is third to the
left of Monika, Aarti is second to the right of Monika. Shweta is
fourth to the left of Payal. Payal is second to the left of Mansi.
ARani is third to the right of Kajal. Kajal is not the immediate

neighbour of Mansi. Who is second to the left of Monika?
5 T T @ A s A s T v 4§ (TR T o
Mo | B ) Tt s At aite & vt T w8, et s o v @
FUT T UL_E| AAT, UTaS & AT 30T W Wd T UT £ uTael, Ut &
a0 ¥ ET E R T FHAA & a4 { AHT TE T ) HwAA |, WAt

@1 frapezan g T8t £ wifver & and @ guT WE W wE 82

MTS Pre, 09/05/2023 (Shift-3)

(a) Mansi \M Laxmi (c) Rani (d) Aarti
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Six friends A, B, C, D, E and F are standing in a circle facing the
centre. B is between F and C, A is between E and D, and F is to
the immediate left of D. Who is between A and F?

%: a7 A, B, C, D, E 3T F U% g9 W &< & 37 U@ &s @2 21 B, F
IMCHF AT HE, A EITDF AT E 3iTF, D& 3T a2 3T 21 A
AT F & dra o A 272

CGLMains, 02/03/2023

44 D A (E (c) C (d) B

® ¢
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Six colleagues X, Y, Z, A, B and C sit around a circular table
facing away from the centre. B sits to the immediate leftof Y. A
sits to the immediate right of Z. X sits adjacent to B. C does not
sit adjacent to Y. Who sits to the immediate right of A?

BT Weehl X, Y, Z, A, B 31T C U MR UH & 90 307 &g ¥ faqa
BTRT 93 £1 B, Y o 3Teh aTdt 30T 9371 £1 A, Z & 31 ardt 317 9487 §1 X,
B & U U 931 1 C, Y& USid W &l 9431 1A & 3tk ardt 30T & 9427 £

! MTS Pre, 12/05/2023 (Shift-3)
I (b) X (e) € < (d) B

(a) Y
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£ 1 16 33% af9er, +Oer, T, qFG, T, faaw, Eight boys Anil, Kamal, Ram, Sanjay, Akash,
A 3T Y U FHATHT T & T 30T EE T Vivek, Rahul and Ramu are sitting around a

P a . - . « .~ Circular table facing the center (but not
T = 43 (T W & T 3w A A necessarily in the same order). Vivek is second

a1 )1 foaes, 319 & 378 3T 30 W WA ATE, o the right of Anil. Anil is fourth to the right
Y & 313 3T | =9 ™= W8 69T, T F 9 3T of Ramu. Sanjay is third to the right of Ram.
¥ d9T ™= U # , fa9® a1 #ua & fezaw Ram is not an immediate neighbour of Vivek or

T T2 2 F1 fzan usn = #1 3tfe Kamal. Ramu is not an immediate neighbour
WA Fm & i &7 of Rahul. Who is the immediate neighbour of

v Anil and Ram?
Aksth Kool (a) Ramu _(b) Sanjay

. Visak (c) Rahul |/~ (d) Vivek
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At 3w I U AT WA & AT 3V g # 3T
Wa A5l & (TR T TR 3 e o g1 ) wreE
it & At 3w ] d e w g, swd it &
I | I WA W )| Y391, TAA & 4% A7 {9
W W E S, U @ A § 2 e W T
mamn?ﬁmmw?nm maa
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Eight friends Mansi, Shweta, Monika, Kajal,
Payal, Aarti, Laxmi and Rani are sitting around
a circular table facing towards the centre (not
necessarily in the same order). Mansi 1s third
to the left of Monika, Aarti is second to the
right of Monika. Shweta is fourth to the left of
Payal. Payal is second to the left of Mansi. Rani
is third to the right of Kajal. Kajal is not the
immediate neighbour of Mansi. Who is second
to the left of Monika?

(a) Mansi (b) Laxmi |
(c) Rani (d) Aarti
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U THAT 9aT § W BT aifEa, EP{ fafaq, 1A=, In an examination hall seven students Ankit,
H1q, g 377 |am T ufam § 39 w30 E w0 Chotu, Jitin Kejal, Nitu, Piyush and Saksham are

e S PSP s T . sitting in a row facing North but not necessarily
Wo'R, WY TNV W PRI WO e, W in the same order. Chotu sits third to the right

% AET 3T [ AT TE U 3T 7 3 3T U, of Saksham. Ankit and Piyush are immediate
'éF.:‘éi? fzag v £ T 37 [eIg & o= AT H neighbour of Chotu. More than two persons sijt
st B a8 7 fafas, '-fﬁ =1 qa;mjugm“r 4 between Piyush and Saksham. Jitin is the@
fafa, sifea & 2 i f@1 #1 F9E & qad o A neighbour of Nitu. Jitin sits to the right of
=T T o ,&’7 ' Ankit. What is the position of Nitu with respect
' A tp Kejal?
Sh= * Ch - .
(/ Fifth to the right (c) Thxrd‘ to Fhe right
27 =t T |/ ureE AT AT | AT

(b) Fifth to the left )

R—

\
ATAT 37T T UT=ral S"\ K

1 | J(d) Third to the left
'/_\ C\’\ P :I- N AR 37T |/ A

i
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19 Fefewal, WaaT, vaar, gifaaT, U=e, 379, #ae Seven girls Mansi, Shweta, Monika, Payal,
T wedll Uw TenET N & WA 307 %ig & fauiq Aarti, Kajal and Laxmi are sitting around a
faom &t 37 wa wva A4St § (F=h A o3 o o circular table facing opposite to the centre (not

" . T & WY A T e v & AP necessarily in tl.le same order). Aarti is second
&) m a_."s"“ ! \W W, 3 § . to the left of Kajal. Monika is third to the right
HE ® AE W AW A G F WAL, He R of Kajal. Mansi is not the immediate neighbour

fapeam wgwt @ %) @, ﬂFﬂﬁ & W q ’zq‘f ¥ of Kajal. Laxmi is second to the left of Mansi.
U7 %1 Urae, @elt wt ey ugtt 78 §1 @edlt & @l Payal is not the immediate neighbour of

Laxmi. Who is second to the_left of Laxmi?

(a) Mansi (b) Arti
(c) inal\/ (d) Payal
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Az AfFA P, Q, R, S, T, VIT WTAa®F @1 % Eight persons P, Q, R, S, T, U, V and W are
fau = AMFIT A & M 3T 3H UHT 945 ¢ sitting around a square table for dinner in such
fF 4 =afaa =7 AT 9T A3 ¥ 3T 4 =afaq wsg @ way that 4 perons are sitting at the four
frafa o A% ¥ W7 9@ U 39 [ w wa =i # corners and 4 persons are sitting at the mid-
% F TR S, UR & ard 4w 21U, T 3 positions on the four sides. All of them are

s L& ' facing the centre of the square. S sits to the
% Ad a3 T, Gt F wed ¥ fawdr um immediate left of U. U sits to the immediate

AT 43T €1 R, U® 1A | a8 ¥79 97 931 left of T. T sits at one of the mid-positions of
ZIP, V3T RETA o fzem w2tdt €, W, T &1 the sides. R sits third to the right of U> P is an

fagzaw w7 -g. fq-qf-qﬁga W ¥ #9 ux immediate neighbour of both V and R. W is not
9 9T A g') an immediate neighbour of T. Who mong the

following is sitting at one of the corners?
(a) V (b) R
\%0) Q (d) S
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K,L,M,P,Q,R,S3iT Tz A AU amar zasd K, L, M, P, Q, R, S and T are seating around a
FANMIAT A T E fF o FA W B & 3T 4 T square table in such way that four sit at corner
U 43a £, ST &1 U7 434 £, 91 aET &0 o7 3w 77 and 4 sit at middle one who sit at corners facing
1 3T F7 @ U AR T a9 2 3T T AT ﬁl’?@s out side and ong who sit at middle facing
&+ A0 F Hrm ?@Tﬂ T ETEIQ,MF AT [ towards center,(P/is 3rd right of S and facing
droT &, M A § 79 49T §1 UF s Q 3T R & towards center. Q is 3rd to the left of M, M is

#rar 43T £, R, M &1 TS 9 81 THF 3 37 3w not sitting at middle. One person is sitting
= 3K RE;’T TS T £ between Q and R. R is not neighbour of M, T

| facing towards center. K is not neightbour of R.

3T R & =1 19 4371 7
< F§ LY l< Wha is seating between Q and R

i v (a) P b) L
Bl E}O <R Q T o) m @ s_~
‘s WALQ Nk| g R Yo |
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A forear, ue iR UH & APT 37 39 UV A48 §
fE A aw ar aF W 93 £ J&afed 9w, ar o |
AE & WS W A3 ¥ U Al & @ 0 48d ae
& Y@ wZ # W £, FEfE awt BE W 433 A
w1 W AT H AW (AA9 Fg F faua ) 7 e,
U @& @ H{ dH E W OAST ) 0 0 F U g
& A o 431 T A o foem & A die dE
wfad 43 &, uw, forem & @ | 9 WE W a3t §
fraur, mmﬁwm@_ﬂn@tlﬁamw
FITA & Fh A o AL ot 43 ¥, A, e
& M | A WE W A 87T & "ay o efataa
U H ®E W I T 87
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Eight frineds, Janki, Komali, Lokesh, Manu,

Nirvan, Rajan, paru and Silpa, are sitting

around a square table in such a way that four

of them sit at four corners while four sit in the

middle of each of the four sides. The one who
————

sit in the middle of the sides face the centre,
while those who sit at the four corners face

» . h .
outward (i.e. opposite the centre.). lakesh sits

third to the right of manu. Manu sits in the
middle of one of the sides of the table. Exactly

three people sit between Lokesh and Silpa, paru
sits second _to the right of Silpa. Nirvan is one
of the immediate neighbours of Paru. Exactly
three people sit between Nirvan an and Komali,

Janki sits second to the right of Komali. Which

of the following statements is true regarding
Rajan?
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(a) Nirvan sits second to the left of Rajan.
fraior, 715F & W |/ W WE W A3 7

/Both Manu and Komali are immediate
neighbours of Rajan
A 3T w21 AT & dchle USTHl 7
(c) Only three people sit between Rajan and
janki.
4
(d) Rajan sits in the middle of one of the sides.
T v faym & uen o a3 £
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E‘rﬂéwnmrﬁ W1 AFYEE AT I 37 A= fav
U WYl & 39T 2

weadt T, fauEt, wy, a9=r, 9ee, 7, Fie 3w
Hiferar v AT UR & WT A7 39 UST 48§
IH | AW FE U7 3T AW AT F A= o 93 7
WA T Fq3A AT & W AT (&g & fauim) @6
ST ¥ 307 AT AT F A W AS T IR I Fg FT
AT F 7T, A & A | AET T 0T A E A
T Y T W T T UEA, U F A | A6 9
71wy farddt oft a1 & wsa o 21 997 7)1 U 3 1
% # Hae UF Fied a4s1 71 T, 9 & Fewzan
ST T &) Aifemr @ g g w7 ¥ T, 7 w6
frrzag s 75 £

U 37 7Y I &1 Fweaw ugE w2 77

L
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Study the given information carefully and
answer the question that, follows.

Colleagues Karna, Michelli, Prabhu, Vanaja,
Mohan, Raghu, Jockey and Neelima are sitting
around a square table in such way that four of
them sit at corners and four of them at the
middle of the sides. The ones who sit at the
corners lace outside (opposite to the centre)
and the ones who sit at the middle of the sides
face towards ceptrgVanaja is seated third to
the right of Jockey. Vanaja faces towards the
centre. Mohan is third to the left of Prabhu.
Prabhu is not sitting at middle of any of the
sides. Only one person sits between Mohan and
Raghu. Raghu is not an immediate neighbour
of Pgab Labhu. Neelima faces towards the centre.

Karna is not an immediate neigﬁgur\ggﬂgghu.
N——

Who is an immediate neighbour of both Mohan
and Raghu?

(a) Prabhu
(c) Michelli

(b) Vanaja

(d) Jockey(/
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E ) = UF "t ufgm § IWT @1 o @ v Few people are sitting in a straight row facing
#3 #1 A, C® &d 3T o3 T4 uT @37 #1 D, A north. A is sixth to the left of C. D is in fourth
# ATE 37T WIS TOTT UT AST ¥ H 31T A & @rw position to the right of A. Exactly two people
% dr at wfem 43 1 B, C & aW 3 wra Are sitting between H and A. B is fourth to the

TATH UT &3T T E, D 31T C AT & Ik AT |
@31 71 F, E & @A 37 g7 09 W ¥3T7 71 C,
ad A7 | 3ed T U #ABT T G WP F &

right of C. E is an immediate neighbour of both
D and C. F is second to the left of E. C is eight
from the right end. There are exactly six
persons sitting between G and F. G is third from

@ o 3 W wfara ‘R ?' G fwdt s fa? ﬁ one of the extreme ends. How many people are
drat T W Aot 31 ufdm § HwE R wfE 48 gitting in the row in total?

72

(a) 8 (b) 14

() 200 (d) 22

x*¥ G Hs<x ArxFDEC ™ *x R 2 %=
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1 M AT W TATAT W AHET U7 30 = faw
T WY T IAT A

AT U a7 U U7 39 WETW 43 7 fa 39
AT A & J1 FE 9T A3, AA9iE 3= AW
U % WA H A3 £ UA ® HE U7 43 =T

& AT W A3 ¥ IV Wl AT T AT F| WA,
wa?auﬁam_zﬂ_t faom & I@ | AT
A WT_431 ) a4t fawewr gm wy w5 e %,
fawmﬁwwqwrﬁrﬂﬁt faus 3w a5 &
A A UH AfaE F3T T HAET FEA & 9F |
IET TF U7 3T T HEA W YT Ty F AT
wia, wna &1 Frazan agE @ f

Fue # "ay 0 Foafafms 0 1 59 w1 a9 1=
£?
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Read the given seating arran-gement
information and answer the question that
follows

Prashant, Kamal, Rishi, Sunita, Tanwvi, Vimal,
Wazir and Yogita are sitting at a square table
in such a way that four of them are sitting at
four corners of the table, while the other four
are sitting in the middle of each of four sides
of the table. The four who are sitting at the
corners of the table are facin! the centre,
whereas those who are sitting in the middle of
the sides of the table are facm‘ outside.
Prashant, who is facing the ccntre, is sitting
third to the right of Vimal. Tanvi, who is facing
the centre, is not an immediate neighbour of
Vimal. Only one person is sitting between vimal
and Wazir. Sunita sits second to the right of
Kamal. Kamal is facing the centre. Rishi is not
an immediate neighbour of Prashant.

Which of the following statements regarding
Kamal is true?
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(a) Kamal is an immediate neighbour of

Yogita./Fe, AET &1 FHarzaws T3 7
(b) Kamal is an immediate neighbour of
/Vmal/mfﬂmmmmmﬁrm
(c) Kamal is sitting to the immediate right
of Tanvi./FHe AT & F1% 2™ 3T T
(d) Kamal is an immediate neighbour of both
Tanvi and Sunita./FUe AT 307 FHET I
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Sitting Arrangement
(Part-ll)

L
w&_,(
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A,6B,C, D,E,F G and H are sitting around a circular table facing the centre. Each one of them has a different
profession viz. doctor, engineer, architect, teacher, clerk, shopkeeper, businessman and banker.A sits third to
right of teacher. D sits second to left of G. G is not an immediate neighbour of the teacher. Only one person

sits between B who is the shopkeeper and T@c.cho)_ E is not an immediate neighbour of H. Engineer
sits third to the right of clerk. Only one person sits between |businessman and F, E is neither a businessman
nor a doctor.

A,B,C,D,E,F,GdYUTH U& JaTHR B9 & 9RI 3R M H & &k A4S g1 T4 | UAS T T -
I gaaTry aa: Rfdaas, sifvg=n, argar, sruagesaed, gHFER, ATARE ayT 36 AfAHR 81 A
HATUSH & Z14 | d1 6 W R 4541 81 0.6 & I1d F TR ASdT 21 G U T Aehean gzt a8t
81 &ae s aafth B Ot gHHER 8 aYUT WIus & 9 d54a1|g1 U aafth o aRgaR 8 ghHeR & a1d |
AR T R ASAT 81 H, ARGHR a7 AT & 727 A1 2 1|E, H &1 Favean gzt 7@1 81 fvg=, a=dh
& Z1d | dER W UR A54T1 81 Had Uah afeh, 1A aUT)F & "y A3ar g1 E T a S g R T 8t
R 81

The one wha iz an ahchikect Senks 3aal Vight o Shopkera
U sits boween architect ana G“&nQQT°
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Twelve people are sitting in tow parallel rows
containing six people each, in such a way that there
is an equal distance between adjacent persons. In
row-1P, Q,R, S, T, Vare seated and all of them are
facing South. Inrow -2 A, B, C, D, E and F are
seated and all of them are facing north. Therefore,
in the given seating arrangement each member
seated in a row faces another member of the other
row}P sits third to the left of T. Neither P nor T sits
at an extreme end of the line. A sits second to the
right of E. Neither A nor E faces T or P. A does not sit
at an extreme end. R does not face A and R does
not sit at an extreme end of the line. Only one
person sits between F and C. Neither F nor C faces T.
C does not sit at the extreme end. Only one person
sits between V and Q. F is not an immediate
neighbour of B and A does not face V

BY VIKRAMJEET SIR

RnafFtaarR ool Fza R B 2 F 2
e agfehal & e aure @t | 97 @, TS
s deaafsrsadgiufss 1P, Q R, S, T aurv gfdor
HHEFG A g1 Ul 29 A, B, C, D, EAYUTF ITR H
IR & & A3 ) sufAg 39 A5 =g § uget
ufeh @ nae wew gud ufeh & wewl &
FH ASEI P THImAT R U RASIZIAA P
INRAVBTaFFORRASTARIA ESF A F TR
WA RASATRNATAINMABE, Tarp & a4
a5d 81 A ufeh & BRR R Fg1 43a1 81 R, A & |4
AgiadsaTglauTRAgiuis S Rt ok asarg |
FauF A FauTcHF A AsaTgI Fat F IR F
B1C, T & 9w aad 81 ¢ ufes & et offt ok ur 5t
AT eI e AR VAYNTQ F AT ASATEI F, B
&1 Farean gzl 981 81 aur A, v & 9= g1 asan
4
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J,PQ,R, S, T Uand V are married couples sitting in a circle facing the centre. The profession of the males
within the group are lecturer, lawyer, doctor and scientist. Among the males,R (the lawyer) and V (the
scientist) are sitting together. Each man is seated beside his wife. U, the wife of the lecturer is seated ZV\O(,
right of V. T is seated between U and V. P is the wife of the Doctor. Q is a male but not the doctor. Sis a male.

J,P,Q,R,S,T,Uayrvar Rarf@ga o2 @ ot &= & ok @4 g8 U RT FTaR 43 81 g & gl
&1 ATy, wawi, e, Rfas aur e 81 gt dldaa)R ( ayr v (@A) & v Sy a3 i
U Q&Y U1 Uil & J1Y AST 81 U wawht & afer . v & 31 8 TR S R a8 @1 T, U 9T v & 9 asan
mpﬁmzﬁmﬁtlg«v%uﬁmaﬁtswm%l

4"

- \g(-\m Loy e
P U 07
_ Z.qw 's
e .1 Widy
v R
- VvV
Re *+
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Seven people A, B, C, D, E, F and G are sitting in a circle. Five of them facing the centre while two of them
facing opposite to the centre. C sits third to the left of D and both are facing the centre. E is neither an
immediate neighbour of D nor of C. The one sitting exactly between D and F is facing opposite to the centre. G
sits third to the right of A and G is facing the centre. One of B’s neighbour is facing opposite to the centre.

A&k A, B,C, D, E, F, AUTG Uah go § 43 81 374 & UTa s &) 3R J@ edh wafas gl &g & RAgda Ran
H @ &t 4 81 C, D & a3 | AR TTH UR AST § YT S &l J& s I AR BIET AT D R T & C &
Fecar o figipauFF S ruddsdamafs s Ruda R A @ F asTIG, AF I |
AR T UR AST § YT G T & &g, ol 3R 81 B &1 Uah Ui &g & Auda e & g aas o181
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Eight friends P, Q, R, S, T, V, W and Y are sitting around a square table in such a way that four of them sit at four
corners of the square table while four sit in the middle of each of the four sides, The one who sit at the four
corners face the centre while those who sit in the middle of the sides face outside/ P who faces the center sits
third to the right of V. T, who faces the centre, is not an immediate neighbour of V. Only one person sits
between V and W. S sits second to right of Q. Q faces the centre. R is not an immediate neighbour of P.

P,Q,S,R,S,T,U WauTY #5 & IR 3R sAUSHR 43 8 6 379 4 ar anfer A1 & arl &1 aur 2w ar 3w
&Y YOI & 7 | A5 g1 TH | ST S IR ASA @ ITHT & dex i R § aUT S {1 & 7oy # 454 § ITHT
qE &% & fAudta fRan # g/p ot & &Y ok @ adh 4371 81 V & a1d | 1 ¥ IR g1 T 51t &g &l 3R
qaaFG dolg VHl Mecan gl Tl g1 A @ Al VAT W F A0 A3ar 815, QF S0 @ TR WU W
d5aT 81 Q &1 & s I AR 81 R, P &1 Faveaw gzt 781 81

DY T

W R
§ J s
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Twelve people are sitting in two parallel rows containing six people each in such way that there is an equal
distance between adjacent persons. Inrow-1P,Q, R, S, T and V are seated and all of them are facing south. In
row -2 A, B, C, D, E and F are seated and all of them are facing north. Therefore, in the given seating
arrangement each number seated in a row faces another number of the other row. A sits third to right of D.
Neither A nor D sits at extreme _ends. T faces D. V does not face A and V does not sit at any of the extreme
ends V is not an immediate neighbour of T. B sits at one of the extreme ends. Only two people sits between
B and E. E does not face V. Two persons sit between R and Q. R is not an immediate neighbour of T. C does not
face V. Pis not an immediate neighbour or R

12 =af+h & aHiar afehal | 39 UaR 43 g 6 <t dev= aafeeal & d9 aa= @@ ¢ a9 uds dfws | 6-6 aafwh
gIuun ufh d-p, Q,R, S, TAaWTVAS gauT ol ZfAuT H SRS @RI @A Ui HA ,B,C,D,EAUIFAS B
aur vl I=R A ik 3@ @ 21 & 7 smawur F g Uik & Ude Gew g ufes & ude §ew & 9rEA 2|
ADFZRETNRUARABTIZIATANMNRAEAD FR fishwRAsAB I ,0F THRBIV AT IHA B &
mvmmaﬂ 21V, T &1 FPrereas uzi=h =8 21 8 vas R U= @371 81 Fha« &1 =afeh B 99T £ & 9wy a5d
21 E, V& ar 731 81 2 afeh R qammmm T a1 Prereas w78 21 ¢, v & T 7 21 P, R
&1 Prerean ugiedt = 81 V S R

| P

. . e .
CP EF AR
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Eight people S, R, N, L, M, T, O and P are sitting in a circle facing the centre. All eight belong to different
professions-reporter, doctor, cricketer, teacher, accountant, shopkeeper, painter and. supervisor. They are not
necessarily seated in the mentioned order. M is sitting third to the left of O. The doctor is to the immediate
right of M and M is not a reporter. R is sitting fourth to the right of P. Neither R nor P is an immediate
neighbour of M. T is a teacher and is sitting third to the right of the doctor. The shopkeeper is sitting second to
the left of the teacher. The painter is sitting second to the left of M. S the cricketer is sitting exactly between T
and P. The accountant-is sitting second to the right of the cricketer. N is sitting third to the left of T.

TS AfH S, R, N, L, M, T, O YT P Uah JHThR R H &g ol IR & &ivas 46 gQ o | 9t aafwhal & aaaamg
T - HA ATHE: TAHR Rfhcas, hdher, e, @, gFHFER, RFeR aur gdders 81 3 s Jg1
g & st v F 431 M, 0 & 12 & R W= R 3971 81| Rfvas, m & Fraveaw 2 ®= iR g aUT M 93aR
ABI IR, P 1A & Y A UR 81 AR R T & p, M & Frpean it 81 7 vas INeras & aur Rfeeas & zid
| dER T R 43T g1 THHER, N7 & afd @ T W R AT 81 RAFaR, M & afd @ TE T R 437 81
s Ot fhdheR 8 T aUT P & &1 Ay | 43T 81 @I, FheR F A A TER WA WASTIN, T & ard | dter

YT R AT
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K, L, M, P, QR, S and Tare sitting around a square table in such a way that four of them sit at four comers of the
square table while four sit.in the middle of each of the four sides. The ones who sit at the four comers face
outside while those who sit in the middle of the sides face the centre of the table P sits third to the rightof S, S _
faces the centre. G sits third to the left of M, M does not sit in- * the middle of the sides. Only one person sit

between Q and R. R is not an immediate neighbour of M. T faces the centre. K is not an immediate neighbour
of R. M with respect to L?

K,L,M,P,Q,R, STYUT T T FTTRR A & IR 3R 3OUSR 48 ¢ 6 399 @ ar a7t & 9=t &1 9 aur v ar
iR Yo & A H 43 81 & o a1 & A R AS § IS HE hﬁﬁuﬁa&mﬁém&gm%mﬁ
a3 aaferat & éﬁziﬁt&anzﬁaﬁzalps*zﬁdeﬁu&mm#méam&wgméﬂ IR 21 Q,
M ara | U R A5a1 &, M Ff f & 7wy § J8] 5471 81 has U Aafeh Q aUTR & "y 34T g
R, M &1 Frareas aieht 581 81 17 &1 5@ & &Y 3R 81 K, R L Aerean ugidt a#i 8
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A, B, C, D E F G and H are sitting A B C D EFG a4 H Q& TR
around a square table facing the "o & ORI 3R & & Ran A g@
centre in such a way that four of them \/\ D E R TR ABd e R zad |
sit at four comers of the square while IR I & ST 9T g1 99 gR Fit
four sit in the middles of each of the &Y yon & weg F A4 2
four sides: :

(a) A,F& A TR U RASAT R

(a) A sits second to right of F, F sits in the@ A F A1 & WO & 7o | &1 8|

middle of one of the sides of the table. (b) G, ot A5 & Rt off i1 ur =t
(b) G who does not sit at any of the «’Y C dsargo *l’faﬁ{ﬂﬂél

comers of the table sits second to the B F (c) D YT B & T haw &I fth a5

rightof D. - el
(c) Only two people sit between D and B (d) C,G mﬁmqﬂvﬁaﬁau

(taken from one side) (e) H,B & T | TH TUTH R ASAT |
(d) Cis not an immediate neighbour of G (f) E, G arF &1 Ferean gt 781 81
(e) H sits second to left of B
(f) E is not an immediate neighbour of G

or F.
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A, B,C, D, E, F, G and H study in different standards viz, Ist, 2nd, 3rd, 4th, 5th. 6th, 7th and 8th. All of them are
seated around a circular table facing the centre. C sits third to right of H. H studies in std. 8. F sits second to left
of E. E is not an immediate neighbour of C or H. The one who studies in std. 1 is an immediate neighbour of E.
Three people sit between H and the student of std.7.H, C and also their immediate neighbours do not study in
std. 2. Only one person sits between the student of std. 2 and G. Students of std. 3 and 4 arc immediate
neighbours of each other. C is neither in std. 4 nor in std. 3. Only one person sits between A and the student of
std. 5. A does not study in std. 2 or 3, B does not study in std. ..

A, B,C, D,EF GaYUlH T Ha3Hl 1, 2, 3,4, 5, 6, 7dYUT 8 § HGA &vd 81 @ 9 ¢ gaTR A & IR
AR g Y R F g &7 333 81 ¢, H & 21 | Fro = R A3a1 @ H el 8 F Jeggw FA1 g1 F E & ard
| TER W R A3A1 81 E, € a1 H &1 Fraveaw ugieht 7@1 81 ag St e 1 J regygs &warn @ £ &1 Fasecan g
&1 H 9T e 7 & Rardt & gwg 3 &afss 333 81 H, € auT 393 Farean it a2 d g gl A8 6
mamz*ﬁm&ﬁ*mmwﬁmﬁ;mala:aﬂ3atn4$f%mtﬁﬁmwaﬁzﬁt|caa}a:&na
IRFFFN3ANUAFAgIATUT SN sF RIS daa s afr dsargIAHem 2arHen 3 d
Y AE1 AT 81 B HEW 2 H HqG A@1 har g
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Twelve people are sitting in two parallel rows containing six people each, in such a way that there is an equal
distance between adjacent persons. In row -1 A, B, C, D, E and. F are seated and all of them are facing south. In
row-2 P, Q, R, S, T and V are seated and all of them are facing north. Therefore, in the given seating
arrangement each member seated in a row faces another member of the other row. V sits third to right of S. S
faces F and F docs not sit at any of the extreme ends of the line. D sits third to right of C. R faces C. The one
facing E sits third to right of Pnd P do not sit at the extreme ends of the line. T is not an immediate
neighbour of V and A is not an immediate neighbour of C.

A PR uiRal A, AT e a TR ASA g de afral Ffaanm @ @1dfs 15 A, 8, C, D,
EAUTFaS g auT A qE affor Ran A g1 dffs 2 7 p, Q, R, S, T YT U 33 8 YT 3971 & IwR a2 # 81
A5% WGTH Ul Ufh T TG e g Ufh d sl F SlaamA g1 v, s&Hea | TYTH UR 5T
815, F & |§HA 8 ayT F ufth & Rt ok o 3@ dsar 810, ¢ & 2 | feR e W R ASAT 1R, € & 9
81 98 ST E & |9 81 P & 21d | JER 9 R A5aT @ |ampuﬁ;ﬁa}mwﬁmtAr Vv &1 Fravean

ageh T 21 vy F AcA E ,__1
A,Cov.\\ T ‘ | [ 1 E
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P‘,‘ P'z.. PB 6 Four males Pl, P2, P3 and P4 are WWPI,M,P33*TP4WW§W‘G&W
.r_-——l——’-—-—' sitting in a row facing towards the A #7% (amavas Wt s s wn A wt) 42 ¢ afr

North (not necessarily in the same o : . :

oﬁer) and four females Al, A2, A3 and - Al,A2,A3 ¥ A4 @ﬂf&!i T“W

| l ] A4 are sitting in a row facing towards & T L q9 w0 (mavas T & gl ww A

the face of these males (not ) ¥t £1 P1 3fit P4 B ur 42 ¥ A3 3T P2

Al A; A 3 A\1 ;:CC:t'“:lyt ;ﬂ the rm: ;'de:yg and UH-gHT & A 43 ¥ A4, A3 & Avdi 0 gt e
sit a e ends. an are :

facing each other. A4 is second to the - *8‘} #1 P4, A1 % Tt &1 §1 A1 37 A4 BRI W

left of A3. P4 is facing Al. Al and A4 &

are at the ends. frofafas o 2 -9 s97 oft £7

Which (;f the following statements is 1. A4, P1 & uma &8t )

correct

. A‘“‘wcm‘m.\/‘ ll.?wzz;:;u;mﬁa&tqn*tmwtmt.ﬁu

)O II. P4 is second to the left of that
male who is facing A2. (a) wae I

(a) Oaly Xl ) a@IadIl

(b) Neither I nor Il

() OnlyI (c) wam I

(d) Both Iand Il (d) I 3 II
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